1 The Khilafat movement was led by -
(A)  Bal Gangadhar Tilak and Vipin Chandra Pl (B)  Maharaja Hari Singh and Shaukat Ali
(C)  Mahatma Gandhi and Khan Abdul Gaffar Khan (D) Mohammad Ali and Shaukat Al

(E) Question not attempted

Taeme st 1 Sge e w foma wm umy

(A) =T v e oi faftm s ae (B)  wETren it fiig afi g sl
(C)  weTet et AR W Fege TEER WH (D) e 3l s i ST
(E)  qui@ws
2 The famous speech addressed by the first Prime Minister of India Jawaharlal Nehru at the hour of midinght on 14-15

August 1947, is known as: (Choose the most appropriate option from below)
(A)  Tryst with Destiny : (B) Hope for the better future
(C) Wings of Challenges (D) Independent India

(E)  Question not attempted
W 3 5o ST S SaTet e 2% g A 1947 F 14-15 e 1 weafy #i i g wfng vimor e | e

e &2 (Fre i & werdt 37 faeeT )
() fr=famafeh (B) BT T SR RET
() fame 3 A= D) Hetse s
(E) 3¥ia 99 .
3 In L'ru‘.- fourth phase of integration of Rajasthan, which four princely states merged into Greater Rajasthan?

(A) Alwar, Bharatpur, Dholpur, Karauli

(B) Jaipur, Jodhpur, Bikaner, Jaisalmer

(C) Kota, Tonk , Bundi, Jhalawar

(D) Pratapgarh, Dungarpur, Kishangarh, Shahpura

(E)  Question not attempted

T 3 w3 = = i e e i e ase § e gam
(A) oTerEt, WA, e, EH

4B) ST, S, S, e

(C) 1, 2, =, Herrs

(D)  waTeTE, T, fEREg, wegn

(E) srgaiad

4 The adult human dental formula is:
o WA 4 A
2123 2213 r
A 7123 A TE Ee
(<) il (D) 2122
2112 TED
(E)  Question not attempted / it u
= @ . [P.T.O.
TS ety
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5 Given below are two statements:
Statement (I): Blood transfusion is a method in which blood or blood products are transferred from the circulatory
system of one person to andihkr, )
Statement (11): The first bldod transfusion was carried out by Karl Landsteiner, r:-:“
In light of the above statembntls, choose the most appropriate answer from the options gim‘:ﬁ I‘Jcluwz
s

(A)  Statement (1) is true Bt Statement (11) is false. :
(B)  Statement (I} is msﬂiin Statement {11) is true. Enﬂ
(C)  Both Statement (1) n%Slmcmcm (II) are true. L[_'"JI.
(D)  Both Statement (1) and, Statement (I1) are false. i—i
(E)  Question not attcmpm
i & e g o
FUA1 :ﬁﬁanm(;lﬁ'm_g:{)gawﬁ;% ﬁgﬁ@mﬁﬁﬁ@mﬁﬁ%mmﬁmmﬁwmﬁﬂmﬂﬂﬁm
E 61§ o |
U 11 : BT Th H0T ] SUSEE Zrar forat ol i
Fweh Tt & e o P e # & waffie Iugw IR ¥'s)
(A) e (1) T R g e (1) 3 B) (B) = (1) v @ g ot (I e R
AC) O (1) T (1) R we #) (D) e (1) 3R (11) ST 2057 &
(E) woiawy v i
6 Which of the following is if¢grrectly matched? 4:';1
(A)  Plaster of Paris - Caﬁ-%Hz{} (B) Baking soda - NaHCO, E
(C) Washing soda - Na,CD, (D) Bleaching powder - Ca0 5
(E)  Question not attemp(ed #¢)
Traferfiga 3 & frmen e = &7 o
(A) R 3T A CdS0, % H,0 @®) AFFTHR NaHCO, g
(C) afErTHEET- NaECD;H"{ - (D) s 9EE-Ca0
(E) Fgafass P m
O o
7 Given below are two statements: Y

Statement () : ‘KARY. AH?; a program of department of science and technology, govenu_n_lcm of Rajasthan.
Statement (II) : ‘KARYA &:’ms to provide short term research opportunities to students o&ib%sic sciences at graduate

level only. o ) o
In light of the above statemgnis, choose the most apprepriate answer from the options givg[rpciuw-_
(A) Statement (I) is corrgctbut Statement (II) is incorrect. i
(B) Statement (1) is incorrect but Statement (II) is correct,
(C) Both Statement (1) apﬂJStalement (II) are correct, )
(D) Both Statement (I) a@Stalcmcnt (II) are incorrect. ()
(E) Question not attcmp[uq o
fagrgafemE: o rel
e - | : FEAKARYA) frgry o i i, trsreer e a6 o s 21 (4 4]
o - 11 : F7 (KARYA) FLFea draet S & ol a0 qivard fart & e aferd v Sl 91 vam s 3,
el o s i Frfefaa faedt 3 § watfie ugw s - Ty}
on) T (1) W & g e ) e (B) = (1) e & g A (H &)
(C) e (1) Sl (11) vt welt B (D) @ (1) St e (1) ST e )
(B) FRTAA
A15] £8¥ 3 [BTo.
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a15] @ 4

Le:h Court located?

: i
Where i$ the I—‘f"i“':’il'ml st OmenSthan d (B)  Jodhpur
(A) Kota (D)  Ajmer
(C) Barmer t ncmplcd e "
E Question not & 4
;;mﬂsﬁmmﬂﬁﬁwm( } @) S
(A) Eact (D) ST
© T
® T ¥
Who was the State Election CummiSSiUﬂcr of Rajasth” during 20237
(B) Amar Singh Rath
(A) Madukar Gupta D) inderjit Kh or
©) NR Bhasin i
(E) Question o attempted
aﬁzuzsﬁuawﬁﬂmﬂﬂm”ﬂ*ﬁm ;
) T )} AR
c T el (@)
(E) ekl
Which of the following statements i not true with regard t0 the Comptroller and Auditor General of [ndia?
a. The CAG is appoited by the President of India.
b. The CAG can pe removed onl the recummendatiun of the President of Inidia.
c. The salary and allowances of the CAG are charged on the consolidated fund of Indiz.
d. The Tenure of CAG is fixed for five years.
Choose the most a'ppropriﬂ!e answer from the options g-iiren below:
(A) b¢ and d only ® & pandd only
' o & band ¢ only

(C) &€ and d only

(E) Question not attempted
ﬁﬁﬂmﬁwm%ﬁﬁﬁaﬂtm@r@wﬁaﬁ%aﬁﬁaﬁﬂﬁﬂ?

%ﬂ(CAG}étma:ngﬁa;mﬁ.ﬂﬁmW%
|
W#W““@G)ﬁﬁrmmmﬁl

- ’ ‘TT[H%
c. asrr(cmmamaﬂw%wﬁgaﬁmﬁﬁ;ﬁﬁaaﬁ%l

d. 257 (CAG) T TR 5 6
ﬁmmmﬁﬁﬁmﬁwmmzﬁﬁmwg'
(A) Saet b, ¢ Fd : ;
(C) St 8, ¢ A : (B) %ﬁﬁn.baﬂ{d
() FAaad ) a;aaa,hsﬂtc
ﬁ{ﬁﬁﬂﬁ“ﬂiﬁﬁ:‘lﬁﬁ’lﬁﬂﬂmﬁ.

8. aft®

c. AE b,  qUmE™

d.

€. faeEnv
a‘?ﬁﬁﬂmﬁzﬁﬁﬁﬁmﬁ‘w
et o e g e g
(B) aﬁiﬁuaﬂ"fd

j.ﬂ)
(C) Fad a aith
B ek
(E) i (D) FaerbIRC
o
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a. TIEAT b, atedn
c. Tt d.  gE
-7 Hifggwan °
ﬁﬁqwﬁﬁﬁﬁﬁwﬁmmﬂmmmwiﬁmz
(A) Fade, dIdR b (B) Faetc,d3a
(C) @Fadec, d3ie 4D) aea,bafe
(E) safawy
13w & o argeae o srgam & dm o aeam 22
(A) =T 234 . (B) =9 283
(C) H{=T343 4D) =T 243
(E) = sgafawa
14 Which of the following is the starting point of the Ram Setu in India?
(A)  Arichal Munai (B)  Shivaganga
(C) Thanjavur (D) Madurai

(E)  Question not attempted
T 7 Tt 7 3 w1 | ey w1 anfs fig 2

(A) e Tg (B) farrtm
(€) R o) T
(E) af@wy

15 Which Union Ministry launched the ‘Swachh Sarvekshan 2023’ - Mera Shahar, Meri Pehchan’ survey? ( Choose the
most appropriate option from below)
(A)  Ministry of Jal Shakti
(B)  Ministry of Tourism
(C)  Ministry of Housing and Urban Affairs (MoHUA)
(D)  Ministry of MSME
(E)  Question not attempted

o AT 3 Eem BT 2023 - B WEC G qgEe e wro g (e i & v e e 9)

(A) e wifes dare (B) e HATEE
(C)  FETEA Il wE fEe ) (D) TUW.UH.UH. . HAwE
(E) i 9y
16  In Olympic 2024, India was at spot in the medals tally?
(A) 37h (B) 91
(cy 17* (D) 7=

(E)  Question not attempted

ST 2024 T WG 9gF aifer § T TN

(A) 379 B) 914
c 177 D) TF
(B) srgafa e

17 Which state hosted Outlook Planet Sustainability Summit and Awards-20247
(A) Goa (B)  Tamil Nadu
(C) Rajasthan (D) Maharashtra

(E)  Question not attempted

forer T 3 ATTSTRE Wide weeATafardt A US ST 2024 ot s i

(A) T (B) afterrg
(C) == D) HEATE
(E) sigaRaws
A15] ¥ s [P.T.0,




18 Choose the odd one out.

(B) France i
A) G hd
Ec; K::.Z:e g (D) Poland |
(E)  Question not attempted{™| ":i
feemr =1 =g ) 1 , v
) 5%) (B) W@ 00
AC) =i @) (D) HiclE -
(E) smimay i 1)
- i
19 Ifin a certain code, O is written as L, Aas H,Mas |, Sas F,Nas T, Eas §, [ as A, Pas G and C as E, then how wil|
COMPANIES be written in that ¢ode? _ ﬁ'j L
R AR FOF L AR ML ST E,NRT,EF S, [F A, PHIGUE CHIE e amar ?, drza sz §
COMPANIES 1 & feran smem) ™ .
(A) ELIGHATFS s ~B) ELIGHTASF '
(C) ELIGHSBSF (D (D) ELGHITASF 00
(E)  Question not attempted {-S1gafa 94 o
iy 3

20  Take the given two statements i5'be true even if they seem to be at variance from commbT{iy known facts, then decide
which conclusion would follow on the basis of given statements?

Statements I : No Apple is Bdnana. )
Some Bananas &ré grapes. 0
Conclusion I1 : I. No Apple afe'grapes. o
IL. All Aprp]esﬁ"!a grapes is a possibility. |
In light of the above smtementgghoase the most appropriate answer from the options Eﬁen below:
(A) Both conclusion I and I follow. () Neither I nor II follows™
(©)  Only conclusion I follokls (D) Only conclusion Il foll4&2.
(E)  Question not attempted Vi

AT 2 TG A ST A AT, e € S e 9 aet @ e wedie S 9, 1 98 a9 F § f ae A

Pt R T et o e Y & g T M
waA1: B e, e &

%o ¥, S N
et 11 : 1w o da, i [

11 Teft &5, ST EFLA T R g
T Tt o i # Pt et § & watfies suge s
(A) aﬁﬁwﬁilaﬁmﬁ‘gﬁﬁ _IB) weﬁlaﬂﬁﬁmm:ém%l
(©) e Fred | srgeo At B (D) e Fard 11 rrcor spcat 81
(E) wruiaua M m

o
21 Anoop told Munna, “stmd"&;] defeated the only brother of the daughter of my gmrﬁiﬁ\mhcf‘. Whom did Anoop
defeat? i }
(A) Son o0 (B)  Cousin ™
(C) Brother O (D) Father ®
(E)  Question not ntt-:mp:j% Q
S R, e rk""ﬁ@*mﬁﬂﬁmﬁm mﬁ%&m%?
@) T (B) it wrd v
) A oA
6 P.T.0-
Al5] & - |



22 There are five fricnds — Sachin, Kamal, Mohan, Arun and Ram. Sachin is shorter than Kamal, but taller than Ram.
Mohan is the tallest. Arun is a little sharter than Kamal and a little taller than Sachin,
Who is the second tallest?
(A)  Kamal (B)  Arun
(C) Ram (D)  Sachin
(E)  Question not attempted

ot 2w & v, T, W, 31607 3fy ) wfee e w8 e B, v & ey 8w #1 a wai et 21 9

w2 H g0 e TR
44A)  FHA (B) W
(©) = (D) wfm

(E)  Hgwita wa

23 Which of the following words will come second in the English dictionary?

aﬁﬁﬁﬂﬁ&ﬁﬂﬁﬁmﬁiﬁaﬁﬁ%#mmgﬁwmaﬂw

_{A)  Maternal (B) Magnify
ji] Magnetic (D) Magical
(E)  Question not attempted / Cﬂa"ﬂ'ﬁﬁ uH

24 Armange the following States / UT of India in descending order according to their population density (Census 2011).

a. Kerala b. West Bengal
o Delhi d. Bihar
T & Frefafias sl / Semanii w3 S 2011 F SHIVAT & ST T SHEE S § STAR ST (d2d) 379 J
srafieg Hifag) _
a. b. ufén sfmre
c. faelt d. farmm
Choose the most appropriate answer from the options given below:
<13 Fr e et & rarfires 3ugw ST,
M) c¢,adb (B) a,d,bec
(C) a,deb (D) ¢, d,b,a

(E)  Question not attempted / FTHIA T

25 Given below are two statements:
Statement (I) : Alluvial soils contain an adequate amount of Potassium, Phosphoric Acid and lime, which are ideal
for growth of sugarcane, paddy, wheat and other cereal and pulse crops.
Statement (1) : This soil contains enough quantity of Nitrogen.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I} is correct but Statement (11) is incorrect,
(B)  Statement (I) is incorrect but Statement (1) 1s correct.
(C) Both Statement () and Statement (I} are correct.
(D) Both Statement (I) and Statement (1) are incorrect.
(E)  Question not attempted
e (1) : Steitg fordt i watw e i G2, s ufers s s arr s &, s =, ai, i ST ST i aeey
et & Ieared o fan s #)
apere (1) + ¥ forgt f ey vy ¥ svggver qedy vl B4
e el 3 srrere i, =i fau o famed A A waifi sugw sac)

(A) e (1) el & Sfer e (1) e R () mmnmﬁﬁﬁﬂmmmﬁm
(©) A (1) i () et e 8 D) e (1) St e (1) 2T e 8
() Faia s
AlS] 3§ 7 [P.T.0,



https://telegram.me/education_news_rajasthan

18 26
27
19
28
20
29
30
i
2 31

Among the following places in Rnlg_sjhan, where is the Pichola lake situated ? 5
(A)  Bhilwara (B)  Karauli -
©)  Udaipur (D)  Ajmer N
(E)  Question not attempted ™
e s m%ﬁ%ﬁaﬁ%&nwﬁwwm co
(A) (B) o
40) _‘ (D) m Ty)
(E) u‘f:ﬁﬂua ’ i
From which generation of computéiithe use of Integrated Circuits (IC) started?
(A)  Third Generation () (B)  Fourth Generation (M)
(C)  First Generation (D)  Second Generation &)
(E)  Question not attempted — N
mﬁmm%ﬂwﬁé@w_m)ﬂmgﬁwﬁ? i
(©) el iy i (D) - Todt i -
(E) safmuy ot Tg)
Which of the following options is arranged in descendmg order of their storage size? i
R ¥ ¥ ST 3 S e e ot (i) s/ 3 srafitera 27
(A)  Bit, MB, Nibble, KB ) (B) Bit, GB, KB, MB M
£)  MB, KB, Byte, Nibble (%] (D) Nibble, KB, MB,GB ()
(E)  Question not attempted / 37w ¥ o
PARAM is a series of ggemblcd in India by C-DAC, Pune. g
(A)  Micro Computer 0 (B)  Mainframe Computer |
(C)  Mini Computer i (D) Super Computer g
(E)  Question not atl.emptcd -
L re:s TF 4, féu% Torden, ot mr v srmarer fopan e
(A) g mzr (B) T dhagey
(€ Frfrazm : C‘.) (D) g Fugey e,
st (&} ] s o
® cad 1 o™
Ramganj Mandi, also known as cdtiander city, is situated near which of the fDlImeg citi
(A)  Sriganganagar s (B) Kota
(C)  Jodhpur fy] (D) Udaipur C_'}

(E)  Question not attempted ¢+

N
wﬁﬁﬁ.ﬁﬁuﬁmm%mﬁmm%ﬁnﬁﬁaﬁﬁm%ﬁmm ¥ Aot e 20

(A) i ") 4B)
(C) =may (- (D) =AW ™
(E) =Aqwfta g C o
N
Which of the following districts uil Rajasthan is famous for the highest production of Wheat in year 20
the staie 7 G o
(A)  Bundi ) (B) Kota O
(€C)  Sri Ganganagar i (D) Jaisalmer T

(E)  Question not attempted -
TS & e 3 & i e ad 202093 i gy Y & walfier seare & fo wfag &

(A) () @
€) i (D) e
(E) arafta g

J Al5] 5§ 8

"'éf Rajasthan?

7, ‘}3

-

[P.T.0



Which among the following is not an Agro based Industry in the state of Rajasthan?
A)  TIron and Steel Industry (B)  Cotton Industry

)  DelMilla (D) Rice Mills
E) Question not attempted

e T g feiaa & & v ar o g st gei i
4A) it i e S (B) m
© @ it gl;;[\l (D) maagl
®) '.'='l - &
33 Who declared “(li¢ status of women should also be raised and womenhould be trained to take a larger and more
intelligent intereSTin public affairs™ at the Maharashtra Provincial Conféfénce in May, 19287
(A)  Subhash Chandra Bose (B)  Bhagat Sifigh
(C) Mahatma Gandhi (D) J.L.Nehfu
(E)  Question not attempted v
Wﬁﬁﬁﬁﬁmﬁ 1928 ¥ fore gimom =6t - ﬂ%ﬁﬁ?sﬁﬁuﬁrmmﬁmﬁqaﬂuﬁﬁﬂa&m#gﬂ
3 e o b v & of % s o s o e e
(C) *ﬂsrmrn{ﬂ“é ®) ?rma
(E) aﬁaﬁﬁwx i
34 In1859, RchefLBLucknnw painting was painted by if;;
(A)  Oubam § (B) Havelock,
(C) Thomas Er}es Barker (D) Cnmpbell-}
(E)  Question'not attempted
T g 1859ff Frefi 371 TS R (painting) St Tt T
(A) Em (B) Raei
(© «wE @iﬂﬁ-ﬁ{ (D) e ()
(E)  STeri sy Lo
35  The University YEducation Commission was set-up in the year % under the Chairmanship of Dr. §.
Radhakrishnan, U0 ™
=, wm, T srersrar § frafieera fi smin @ e £ & i gh
(A) 1951 i3 AB) 1953 O
(C) 1947 o= (D) 1948 LI}
(E)  Question not attempted / STTAIE T —
36  Sewan, Dhamaniand Karad are y
(A) Types of grasses (B)  Types of Rajasthani painting forms
(C)  Types of(folk dances (D) Desert sbils
(E) Qu:sﬂt;an‘nq! attempted # f‘i
ELES —
f:: q‘ma;:% () Torere fyreren (ifEn) w9 % v
(C) %A HFFR (D) HERIET D
(E)  wifaftd 94y - L6y
37 e i e gy e e 2 4
AA)  wEHE By frem -
© fagh © ®) T
(E) Wﬂﬁﬁ’ ~
38 ﬁqﬁwﬁiﬁrﬁﬁfﬁfﬁmmﬂww‘lﬂﬁ 1
(A) w B it
4Oy == T (D) I
(E)  Fgafa y 9!
A15] £5% 9 v [ P.T.O.




two statements:
- Most of the rulers of the princely states after Independence of India were averse to join the Constituent

Assembly.
Statement (1) : This response of rulers of the princely states meant that after independence there was a very real

possibility that India would get further divided into a number of small countries.

In light of the above statements, choose the most appropriate answer from the options given below:
(A)  Statement (I) is correct but Statement (II) is incorrect.

(B)  Statement (I} is incorrect but Statement (II) is correct.

{C)  Both Statement ([) and Statement (1) are correct.

(D)  Bath Statement (1) and Statement (II) are incorrect.

(E)  Question not attempted

e (1) : WA ot T & @ Farae! & ohd S S e 939 & fea

U (1) : IET TETST i 50 S¥f6an 1 37ef o Ton oveiore 3 ava O At e oft o i w6 912 A ° sz S
S el % e 1, 2 R e Rt § § wod guge s g

(A) A (1) wE R S Fm () e R (B) O (1) T & W e (1) w6 R
(C) =9 (1) 3 e (11) ST wet &) (D) A () 3 e (11) ST 8 e &)

(E) guiE@ w4

40 Where is the archaeological site of “Civilization of Balathal” situated?
(A) Hanumangarh (B) Ajmer
(C)  Vallabhnagar, Udaipur (D) Mount Abu, Sirchi
(E)  Question not attempted
AT AT T Yo €0l el fod 87 .
4A)  wEETR (B) S
(C) FEEIVAT, J2q[ (D) wiFwe 3, ferd
(E) uia 9
41 In which year Prithivi Raj III defeated Chande] Ruler of Mahoba?
(A) 1191 AD. (B) 1192 AD.
(C) 1181 A.D. (D) 1182 AD.
(E)  Question not attempted
formy ard & qealt Tt 11 3 HETET 3 S St i e o
(A) 1191%. (B) 11924
(C) 1181%. D) 11828
(E) ermiEud
42 “Saheliyon ki Bari” a popular tourist destination in Udaipur was built by
(A)  Maharaja Surajmal (B)  Maharaja Udai Singh
(C)  Maharana Shambhu Singh-1 (D) Maharana Sangram Singh - 11
(E)  Question not attempted
AR 1 v g v Tt qeferdt $i A frash g aeem )
(A)  weErr geEye (B) e 354 fiie
(C)  wewmn 3y fée-1 AD)  wETo Hm fie-1
(E)  wqaf@ gg
43 Inthe sentence given, replace the underlined words, choosing the most suitable idiom from the options below:
He was arrested without being given a reason.
(A)  at odds and ends (B)  outand out.
(C)  overand abave p[—)} for no rhyme or reason
(E)  Question not attempted -
AIS] 5 10 [RTE

et
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44 For the given sentence, choose the most appropriate answer from the options below:
The language and style of a formal letter is-
(A)  wvery Fricnd‘ly_'-: _#B)  polite and Iﬁ;?f
(C)  lengthy ¢ (D) chatty &y
(E)  Question not,attempted £
=~ v
45  Forthe word giveriin Hindi, choose the maost appropriate word in English/from the options below:
(A)  unacceptablé) (B) untenable {{}
(C) tenable = (D) acceptable -4
(E)  Question not attempted I
M M
46 Match List-I with List-1I i
List-1 {Chhatri) List-1 (Places)
a.  Chhatfi of Sawai Jai Singh I Alwar g
b. Chhatri of Musi Rani 1. Ramgarh {1}
[ Chhiairi of Gopal Singh . Gatore (73
d. Sethion ki Chhatri IV. Karauli £}
A1 % wra geft-11 = frem ifog 1
-1 (@i HEL-IT (F2)
a.  HAg s i s ad L SR g
b. T FHT T L TR ey
c. i fie A ead L fEr e
d.  #ST v, waelt
Choose the most appropriate answer from the options given below: )
A e e ferpeii .31 wrarifares IUgw ICTH: o
(A) a-TV,b-Hlc-1,d-1I B)  a-TLb-lerIV,d-11
(C) a-1b-Iedl,d-1IV (D) a-I,b-IeiIV,d-II
(E)  Question not attempted / 3T 541
47  Who is famous asf:_gagad Ki Meera’? Ff]
(A) GavriBai © (B) FPanna Dhai‘;:?
(C) RanaBai - @)  Karmawati |
(E)  Question np},anemptcd t.'“!‘j
anTg i HRr 3 A A e 87 pors
Jp T o By e B
© wmaE (D) wwEd
(E) wrqafawg
) M
48 After Independenge {hree states in Rajputana acceded to the Indian Union F‘k"l;pugh the-
(A)  Instrumentofjintegration (B)  Accession lﬂ-ﬁt“'m‘:m‘ League
(C)  Instrument of]Obligation (D)  InstrumentofjAccession
(E)  Question not attempted e)
S o T S e e ¥ i e i i e 6 e R
JA) TR Sy (B) R FEghE i
(€)  Tzhwe siw piifeemem (D) g FHI
(E) wrafawa
A15] 1" [ PT.0.
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49 Which part of the telephone device accepts voice and sends that information in the form of electromagnetic moves?
(A) Dialer (B) Mouth Piece
(C) Receiver (D) Cable
(E)  Question not attempted
Sl IO T AL FNF AT AT & Y ST B TR e & 3 I e 5 g e ad & w9 3§ e
A) B (B) wr&HA9w
(©) Tadtat (D) Faa
(E) weiaay
50  Which one of the following is not the mode of Social media?
(A) Broadband (B) Blogging
(C) Facebook (D)  Twitter
(E)  Question not attempted
Frafefiaa # & = w1 g difee % arem @) 76 &2
_(A) diEes (B) serhi
(© o (D) Az
(E) wqaf@uy
51 Who of the following space travellers born in India died in space shuttle of Columbia during its returning?
(A) RituKaridhal (B)  Sirisha Bandla
(C) Kalpana Chawla (D)  Sunita Williams
(E)  Question not attempted x
= & vy # o=, SR Sfarfcer At ot et amaet 3 S wieifaran 3 stafer a3 geg € s o
(A) T wfras B) Tl aiger
_C)y T =HEen (D) e faferra
(E) gaf@wy
52 Given below are two statements:
Statement (T) : Gram is grown as “Rabi” crop in Rajasthan.
Statement (II) : Oilseeds are grown both in “Rabi” and “Kharif” seasons in Rajasthan,
In light of the above statements, choose the most appropriate answer from the options given below,
(A)  Statement (I) is correct but Statement (IT) is incorrect.
(B)  Statement (I) is incorrect but Statement (11} is correct.
(C) Both Statement (I) and Statement (IT) are correct,
(D) Both Statement (I) and Statement (11} are incorrect.
{(E)  Question not attempted
e 21 e R g #:
U (1) : =7 Tored™ 8 Tl e & F9 ° IEr S 21
WU (IT) : feretes Torer 7 el i catie At e # amg ey E)
I el o it , i< o e i # & waifirn sugw s
(A) T (1) WE 2 e A (1) T ) (B) A (1) Tt & S oo iy wrlt By
1) e (1) Sf e (1) S wE E) (D) %9 (1) 3R FT (11) Bt rer B
(E) waf@wy
53 Which of the following taxes is not levied and collected by the State Government of Rajasthan?
(A)  Road/Vehicle Tax (B)  Income Tax
(C)  Taxes on Agricultural Income (1)) Taxes on land and structure
(E)  Question not attempted
& w1 |1 A T US4 WORICET S S e 7 o st &0
(A) HSFAETE FL M) smE
(C) &t s o (D) wfer s wieerm g e
(E) orufa ua
AlS5 ] % 12

[ P.T.O.
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Which of the following is not a salient feature of the Indian Constitution?

(A) Provisions drawn from various sources (B) Provision of Dual citizenship
(C) Lengtheist written Constitution (D)  Universal Adult Franchise
(E)  Question not attempted
Forerfia & & 2 = Ty dfenar < o e fere e 87
(A) fafie dvdt & fow m smaaeE 4B) Sl AmTiEaT 1 SET
(C) Tt v ferftaa wifeam (D) T g AaTaE
(E) Faiaus
55  Who describes Prime Minister as “Primus inter pares” (First among equals) and “key stone of the Cabinet arch™
(A) H.J. Laski (B) Munro
{(C) Raunsary Muir (D) Lord Morely
(E)  Question not attempted
P o it ) T g e (At i e s e arem) Sht e % s w3 w9 F 9 FEr
(A) TE, AR ' @) g
©€) I (D) @R
(E) oAqwiwwa
56 ArrdrEwfRumoE:
T - 1 ;ST TR o EeT A T @ e S g e i el e § 9 e €
O - 11+ T ATt ST et o O e &1 e 3 formT 3T el o T € wel
ﬂmﬂﬁ%mﬁmﬁwﬁﬁﬁmwﬁmiﬁ:
(A) w1 R, feg e 11 TE # | (B) wFAlEAE, rgFEnaa
4C) = 1 T ST E E (D) A 1 3 11 At v 8
(B) . srgaf@ss
57  oyEEe W EEE fme Em-
AA) ST HgaT e (B) g€ ¥R
(C) ATfeE g (D) HTE AT
(E) ¥l e
sg  Frefeiaa i & R et # owfer Swer & ST
a. MET b. T
c. THI d. it
e B -
=y fa g et i & wratfires 39 I |
(A) Fada,bafllc (B) @awb, ¢ d
(C) Fadc,d3fie D) FEea, d e
(E) Fgwitaus
59 Name the left bank tributary of the Brahmaputra River?
(A)  Burhi Dihing (B) Sankosh
(C)  Subansiri (D) Kameng
(E)  Question not attempted
ﬁ@gqﬂ%ﬁﬁmaﬁmaﬁrﬂmm-
(A) T fafd (B) dEm
() FfEd (D) =TT
() &gfta e
AlS] @ i [PT.O,

12


https://telegram.me/education_news_rajasthan

p’"‘.‘"

60  The Western Ghats are known as *Sahyadri’ in which state?
(A) Tamil Nadu (B) Kerala
(©)  Kamataki! (D) Maharashtra (")
(E) Qucstmp ot attempted —
e o e e e s e o
(A) ﬁi?fﬂ’"ﬁfd-] ~ B) FE
(© wiew (D) wWewrZ g
(®) Mﬂaﬂaﬂﬁ Iy
61  Which gencrntio;uf computers uses Vacuum tubes for Circuitry and Magnetic drum of Memory?
(A)  Third g0 tion (B) Fourth gcncraupn
(C) First geEgtiun (D) Second gcncratmn
(E) Questi not attempted
Wﬁﬁq% ﬂﬂﬁﬁﬁaﬁtﬁﬁﬁm?ﬁm%maﬂqmmmﬁmh
W ﬂmﬂ‘ﬁﬁ (B) “hdd o
(© Wﬁ% D) WIfE o
(E)  svgafta my Lf)
= 4
62 A set of wires which carries a group of bits simultaneously, that is, in parallel, and has an associated control scheme
is known as ; ¥
1
(A) Bus 3 (B) Registers
(C)  wires (A (D)  data cables f.‘*l
(E) Questionr not attempted
mﬁm@mﬁiwmﬁm%@u@ﬁém% A Wi, mﬁﬁaﬁ:ﬂﬁaﬂwm%mwwm
& (g &
(A =@ 1 (B) e Ty
(© @t i M) TFEE
(E) srqafauy
£ : i : )
63 The name of th,}f;ll‘St Indian Satellite is ; P
(A) Aryabh:{t{_’i (B)  Kalpana I
(C)  Bhaskar- [ (D)  Insat-l =
(E) Questmn pm attempted a0
qug ‘lTRTﬁ'v'-IEQ'EI'E AT 2 o
A) g g (B) e A
(€ Wl (D) T o=l
(E) afea v
(28 ™
64  Which fair was'slarted by Kachhwaha's to cherish their victory over ChandraMeena?
(A)  Khalkani Mata Donkey fair (B)  Diggi Kalyan §i'air
(C)  Bharrhari fair (D) Pushkar fair 'l"‘"
(E) Qucslmﬁ%t attempted
quﬁ;ﬁﬂmmﬁﬁﬁmmﬁmﬁmmﬂm%ﬁ;mwa ':)
AA) e W e den (B) iy e it Sy
(©) wrdefuirar M) yaadenr
(E) wqafauy
INCIRE 3 14

[ P-Tto'
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65  Who, amongst the following famous artists, has represented Rajasthan in the Bharat Utsav in ‘Bahrupia Kala'.?ll'

(A)  Amar Singh Rathore
(C) Jamna Lal Bhatt
(E)  Question not attempted

(B)  Jai Singh Rathore
(D)  Janki Lal Bhand

fraferfian O @ forg witrg Femen 3 yra Ioaa o sseslia e # e #1 wfafifies e

(A) o fiETEE
\ (C)  STRAT ST WE
| () AuftawA

(B) smfiruis
4D) S e viE

66  When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisional government of free India at

Singapore?
{A) 23" October 1943

(C)  21* October 1943
(E)  Question not attempted

(B) 24" October 1943
(D)  22™ October 1943

Farft g =iz wie o R e v 1 sreardt (Aifesen) aEE s v it don e i F E e

LkA) 23 ITECET 1943

(C) 213 1943
(E) STERasy

67 Choose the correct statements from

(B) 24 3T 1943
(D) 22 SR 1943

the options given below:

a. The British Parliament passed the Indian Independence Act on July 05, 1947.
b. This Act was based on the Mountbatten Plan,
c. The Act got royal assent on August 10, 1947,
d. The Act was implemented on August 15, 1947.
Choose the most appropriate answer from the options given below:

(A) a,canddonly
(C) a,bandconly
(E)  Question not attempted

et fa ra, Forereat & @ et A

a fafewrd@a o5 9,

(B) b,canddonly
(D) a,bandd only

1947 = syt war it wie

b, 7 stfufiad wrde s ol e T AT w1l

C.

(A) aeta,c 3d
e Facia, b HT ¢

(E) @@ wd

68  Which country's armed fo

arfsfran X 10 30TEd, 1047 1 Tae T 9TH il
. sififam (o) 15 3T, 1947 i T A faar e
43 forw 1o et 3 & waiferes Iag IO T:

B2) e b, ¢ 3T d
( Faera, baiitd

rees were awarded the coveted *Golden Owl’ award for their outstanding performance jn

Dec 20237 (Choose the most ﬂppmpria!{: option from below)

(A) SriLanka

(C) India

(E)  Question not attempted
form 2w & wer wet @ fawe 2023
Fge faweT 74)

(a) HiEE
#C) wra .

(E) gl wu

A15] i3k

(B)  Singapore
(D)  China

if 3 e el g I e st T 8 Gl G & (e gy

(B)  femqe
oy =\

15 [PT.Q,
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Who was appointed as the first w

oman Chief Justice of Uttarakhand High Court?

69
(A) Hima Kohli (B) Indira Banarjee A /
(C) Ruma Pal (D)  Ritu Bahri !
uestion not attempted ok
%ﬁqﬁwaﬁtmn&wg@w Fei Foager Pt 7 .
Ay fem e (B)  sfazr i
(@ T ) fag :_r‘rrﬂ f
By FaRd 9 - ."II
70 Wﬁ%h one among the following is a “Fossil Park™? o I;
) sariska (B) Rafithambhore -
(@1 Akal Wood (D)  Keoladeo Ghana
(E)  Question not attempted
Frrrfafiae 3 2 - < e &7 " |
(A wE (B) TERR
@y FFETE (D) %ﬁﬁam—r
(B) IR Tt ol

The chief of the tribe is called Tapara.

71 \‘v'%?ch of the following statements is not correct about Sahariya t:}
: i

o
@),
®)
©

Baran district.
()} They have “gotra” like Chauhan, Dodia etc.

E)y Question not attempted

They worship several Gods and Goddesses, but their mainlgad is “Behru Bharani”.
The habitat of Sahariya is South-Eastern Rajasthan, that tod limited to Shahabad

fibe of Rajasthan?
and Kishanganj tehsils of

1

( ;
ﬁgﬁmﬁam.mmwﬁmmﬁ%wﬁmﬁa

..U\i-: T A % T AUTST FET ST 2

B)) %ﬁéﬂﬂ%ﬁﬂnﬁzﬁqﬁmﬁéﬁzﬁwh‘%umﬂfii

=

mﬁwmﬁamaﬁw-qﬁmﬁ%ﬁragﬁaﬂﬁﬁ%{ﬁmmﬁtﬁmﬁnﬁaﬁﬁm%l

(
(%’E; = <fter, Sifear st S i g
(E), Fgarasd

72 For the sentence g
Myrgister baked a cake.
AAY> A cake was baked by my sister.
(B)y} A cake was being baked by my sister.
(G){ A cake had been baked by my sister,
my A cake is being baked by my sister.
()5 Question not attempted

Ly

™

iven, choose the most apprepriate answer in the passive voice from the options below:

{7}
o
ol
-
V8]
oo

it

73 :F%ulem the given sentence choosing the mest appropriate word from the options below:
y brother is in the Indian Foreign Services and can speak nmnﬂuﬁglmgcs_ Heisa

{ﬁ‘h Philatelist
(Qb Pessimist
f E}N Question not attempted

AB) Li‘l'l‘g]'.ﬁst
(D) Polygl
c:_- "'_'f ot

N

74 Cﬁl?,p]ele the given sentence choosing the maost appropriate word from the options below:

SﬁE}emarked that she

(A feeling

(d)ﬂ will feel

(E)" Question not attempted

Al5]

15

annoyed with him for his lack&F sympathy for the vietim,

oy feeld
(D) feld)
|
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5 Which of the following are two cash crops of Rajasthan?
(A)  Bajra and Coriander (B)  Barley and oil seeds
(C) Cotton and Tobaceo (D)  Wheat and Rice
(E) Question not attempted| 7|

Frfefiaa 7 & =7 TeeE = T et 8

(A)  =mem i ufEr o B) o afit e )
(0) I SR T v (D) 7 aftwmEe 5
'(E] A 9y ‘C‘D AV
76 ]“d"""' Gandhi Canal ends in '»','Iq:uch of the following districts of Rajasthan? f':;::
{."\-] Bharatpur i (B)  Udaipur o
((::] Jodhpur (D)  Jaisalmer Te
(E)  Question not attempted ol
e et et Frefefiaa 7 & veidas & frg B o ot 22
(A) WA 2 (B) e
(C) Siam & (D) gﬂ;?ﬁ{ !f:T
(E) sraf v v
0 . ¢
77 Which city is known as ‘Food Basket of Rajasthan'? ™~
(A) Bikaner Ty (B) Ajmer 0
(C)  Alwar vl (D)  Sri Ganganagar S
(E)  Question not attempted gl
fore TET T T W wT AT e A A e e? : sl
(A) dEET (8 (B) =R
(C) o (D) ot ;
(E) af@ws o {"_;}
78  Pradhan Mantr Krishi Smch:uy:e Yojana (PMKSY) was implemented in Rajasthan fromn the year
rmﬁﬁmﬁ?mﬁﬁaﬁ@jmm & g 1 T oty g
LAY 2019-20 ,ﬂ (B) 202021 0
(C) 2015-16 (D) 2017-18 S
(E)  Question not attempted V] Jﬂﬁﬁ'ﬁ‘ e 1N
79  Rajasthan Agricultural Researth Institute is situated at which of the following cities ? :
(A) Jaipur - (B) Mount Abu P
(C) Jodhpur N (D)  Udaipur M,
(E)  Question not aﬂcmptedr"i [-:&
Wﬁmﬂwﬁﬂﬁnﬁﬁamﬁﬁwﬁv o
(A) SFIC © (B) W ¥R :
AC) SR U“: (D) 3EAL g
(E) wAfEad ™ T
80  *Deputation’ 31X 71 fédt wrda: ¥ EITI- rd
(o) feweafgfs O @)  fanewvza A
££) ufafraf N o) g &
(B) i crx;‘ oy
81 Feferfaa it &t <feim arafir smpg a2 v~
(A) @™ HAmw 2 L) () s avenfiE 1 o .
C) aEdli s 4D)  wa wnh e (O
(F) aiE g LI]
Al5] 45 ' i . [ P.T.0.
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82 " AL T T 7Y 27
(A)  fmr fraism (B) UFEHE
(©) i AD) fFEwwmem
(E) Aquita9a ' ‘
83 A group of girls stands in a single line. One girl is nincteenth in order from both the ends. How many girls ﬂfi ther
in the class? f
ST T O W o 1 gt R A T 8 O ST 19 9 H G 1 e 3 e o e f[
(A) 35 ® 37 /
(C) 40 (D) 38 I
(E)  Question not attempted / Hﬂﬂﬁﬁ'ﬂ".‘l ..
B84 Choose the odd one out. !
(A)  Aggregate (B) Accumulate
(C) Congregate ' (D) Disperse
(E)  Question not attempted :
[ELcEaoc eyl
(A) wwfera (B) wf@sEr
(C) AT o) Faaeferm @
(E) ofaiaug
85  The perimeter of a rectangle is 90 m. If its length is twice its breadth, then its area is:
T AT T I 90 m 1 FF gwehl e =gt & g €, @ soe dewa 3
(A) 460 m’ (B) 420m’
(© 450m’ _P) 380m’
(E)  Question not attempted / STafd 5%
86  The average monthly income of ‘A’ and ‘B’ is ¥ 6,000, that of ‘B’ and *C” is ¥ 5,500 and that of ‘A" and ‘C" is 7 5250
What is ‘A’"s monthly income?
A 3 B i 3fea IEE A 2 6,000 B, B v C 4 fhaa mitw ot 2 5,500 3it A 3fT C £ st mivE o7
% 5,250 &, 79 A 1 i 17 = gnfi )
) 5750 (B) 26,200
(C) 6,250 - (D) 76,450
(E)  Question not attempted / STAH w1
87 ‘A’ borrows a sum of T 2000 from his friend *B* on 31 December 2011 on the condition that he will return the same
after one year with simple interest at 8% per annum, However ‘A gets into a position of returning the money o0 !
July 2012, How much interest amount he has to pay to *B"?
A S ford 3 8 31 FwTt 2011 F1 2000 JURCAAT S Foreh 31 & fo v e ke 94 i sy sarer &8 98 T
T A 2 e A 36 TR0 | S 2012w amw 9 2y 8) sy o B @ et smer 3 w3
(A) 100 @) 2120 _
) w0 (D) 290
(E)  Question not attempted / 3Twft a4
A15] {5} 18 : [PTO
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B
be percentage increase in his expenditure?
T 319 31T T 80% @ Far B af 3wy o 14% ﬁnarrmt#nm 15%
wftrma gf anft? 88
(A)  22.25% (= - (B) 25%
(€ 20% N (D) 21.25%
{E)  Question not aucrhpled / a@ﬁﬁnﬂ :
§9  Which of the following i;;i;:ut a web browser?
(A) Opera <l (B) Gmail
(C) Moazilla Firefox (D) Safari
(E}  Question not attempted
Frerferar & & w-w S s T 27
(a) s N 4B hi
(C)  wfsTer HrwE :_:j (D) @
() af@aay &
90  Which of the following lis[nm a medicinal plant?
(A) Corclorus capsu!aru (B) Ocimum sanctulm
(C) Emblica officinalis. A (D) Curcuma longa
(E)  Question not att:mpted
fr=fafaa i @ e aﬁmﬂa oy 7 87
(A) FnEwE %ﬂ?ﬁfﬁﬂ__; AB)  SilfenA g
(©) manﬁféwﬁfﬁ (D) FEFH M
(E) SIuiE w4 O
il
91  Blue Revolution in India‘was launched during the period :
(A)  1985-1990 (B)  1990-1995
(C) 1975-1980 i (D) 1980-1985
(E)  Question not attempted
A i reft it Fo ety 3w o o
(A) @11985-1990 ' AB) T 1990-1995
(C) AT1975-1980 (D) 9 1980-1985
(E) wfaug ;I;'I
I ) ,
92 In which of the following, Rajasthan is the largest producer in the country?
(A)  Wool (") (B)  Tea
(C) Wheat D () Rice
(E)  Question not BHLITIP'IIL'-{]
Wm‘ﬁ;émﬁﬁﬂqﬁﬁﬁﬂﬁ T feara waifue seaaa vsa &
(A) HA et () =™
L W t;_l (D) e
(E) Hquiw vy vl
Als) @t 19

Rakesh spends 80% of his income, If his income is increased by 14% and saving decreases by

%ﬁmﬁtﬁl

18
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93 Which of the following dams of Rajasthan is for both irrigation and Hydroelectricity? (Choose the MOSt apprg. -
option from below) OPrigy
(A) Mgcja Dam (B) Jawai Dam
(C) Ram Sagar Dam (D)  Rana Pratap Sagar Dam
(E)  Question not attempted
Trreur i il 3 & @ e & v i siv e forga 31 3 fere g fiFan sm & (Pt 82 g
fameT ) , v
(A) ey (B) AT @Y
(C) THHFR iy AD) T WA WO S
(E) 3muia v
94 Vergheese Kurien is known as the father of which revolution in India ?
(A) Green Revolution (B) Red Revolution
(C)  White Revolution (D) Blue Revolution
(E) Question not attempted
arfier i i wa - o wifer 3 5 3 w9 3 ST St 87
SA) i it (B) wfed (TE) whifd
O Al (D) e wifa
(E) saiEys :
95 Which of the following is NOT a large scale Industry in India? (Choose the most appropriate option from below)
(A) Iron and Steel Industry (B) Cotton Textile Industry
(C)  Jute Industry (D)  Khadi and Village Industry
(E)  Question not attempted
Frefesfan i & 241 e i ey ot el o &7 (e & s v Pt )
(A)  ite A geam JEm (B) et wueTIEm
4C)  wEEATEM (D) @ s
(E) rafe uH
96 As per the Budget 2024-25, the fiscal deficit is estimated to remain of GDP in 2024-25.
T2 2024-25 1 SO 35 ST TR e 2024-25 3 e ey Fe o W S Rl
(A) 58% (B) 49% ;
(@ 5.1% (D) 5.5%
(E}  Question not attempted / m@ﬁﬂ Bt
97 In which year the Indian Government launched the New Economic Policy of India? (Choose the most appm}"ﬁﬂ’
option from below)
T W 7 ﬁmaﬁﬂm?ﬁrmmﬁmﬂﬁwmﬂwﬁm?(ﬁwﬁ%mmﬁm?ﬁ)
(A) 1990 (B) 1993
(€) 1992 M) 1991
(E)  Question not attempted / Safta wu
98  Who from the following ‘llilb' the Pri'm“f}'_“’-‘ﬂpﬂnﬂibilil:-‘ of distribution of the food grains in India?
(A)  Food Safety and -‘-fﬂndilfd Authority of India  (B)  Employee’s State Insurance
(C)  Bureau of Indian Standards (D) Food Corporation of India
(E) Question not attempled
et 3 Freferfara 3 @ wrar= & faaon 6 e fmad fgg
(A) mﬁﬁumg{_maﬁimmfm R T e S—
(C)  SIFEIY AT T ) et e
(E) qaiE w4
A15] 5§ 20 (PT0
T T P A T B T ]
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Choose the most appro
'PPropriate antonym of the word “Ancient” from below :

(A) Destroy
\ S (B Modern
(E)  Question not attempted Y, e

1
a0 \For the sentence given, choos
1 se¢ the most appropriate answer in reported speech from the options below:

Ravi said, “My mother is going to her home town.”

(A)  Ravi said that his mother was going to her .humg town
&) Ravi said that his mother had gone to her home town -
(C) Ravi said that his mother wil] go to her home town ‘
(D)  Ravi said that his mother has gone to her home mw.n.

(E)  Question not attempted

101  Who was the first Lokayukta of Rajasthan?

(A) Justice L.D. Dua (B)  Justice J.L. Gupta
(C) Justice Pratap Krishna Lohra (D)  Justice S.S. Kothari
(E)  Question not attempted

TSR & WUH A i 47

) | T2, ga (B) iftew iU, THT

(C)  ifeE WaTd FT SIET (D) e wE.uE. et
(E) Fgaia 54

100 What is the tenure of the Chairperson and Members of the Rajasthan Human Rights Commission?

(A) 5 Years or upto 65 years of age whichever is earlier

(B) 3 Years or upto 65 years of age whichever is earlier

{c} 5 Yeﬂl's or upto ?9 yCﬂ.l's gfagc WhiChEVEf is Eﬂl’licl’

(D) 3 Years or upto 70 years of age whichever is earlier

(E)  Question not attempted
mmﬁwm%mawaﬁwmﬁmﬁm@
) s 65 o oy ok 1 o TR €

(B) 3H€mﬁsaﬁaﬁiaﬂgaﬁa‘rsﬁqﬁﬁ§

© s 70ad 4 oA A T

(D) Eaﬁmmaﬁﬁmﬁiﬁ‘ﬂ‘ﬁ"ﬁﬁ

(E)  srqafraug

nan Governor of the state of Rajasthan?

13 i
Wha among the following Was {he first wor
- = (B)  Margret Alva
© i g () Pratbha Patil
(E) Questi d
- ;:n not alt::::; fﬁ e e T (R X Wl
@ TerEd™ (B)  wnie s
o 4n)  wfavirwifes
(E)
'“51 T 21
[ P.T.O.
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104

(A) Godawan ( Great Indian bustard ) (B) Blue Jay
(C) Indian Ru}]{:s (D) Peacock {7
(E) Question nm}mlcmptcd (s
T T U GEQ A TR (]
JA)  THRE (A T ) B) HeEs i
(C) et Ty (D) ®R £
(E) FIafE W a 3
ty)
105  Which of the foll \ng peaks of Aravali Ranges is the highest? -
(A) Jagra v (B) Kamalnath
(C)  Gurushikhar (D)  Raghunathgarh
(E)  Question ot attempted M,
et e ¥ Frmfafan Rrad § wed S @ S dt i ot
(A)  FRT £y B) FHemy L
) TERET (D) T =
(E) m@fmuﬂt} &
) L
106 ‘Kalisindh Then'f'lg_l Power Project’ is located in which of the fDllDWITIlg greas of Rajasthan? (Choose the most
appropriate Dplmn“fmm below) -
(A) Barmer (B) Kota
(C)  Jhalawar (D) Bikaner ;_*:r'-g
(E) Question not! attempted
“wrefifers ardta St afEsem ﬁm%ﬁﬂﬁﬁ%ﬂmﬂ%ﬁm%ﬁﬁf%ﬁ%?{ﬁﬂﬁﬁmmﬁtﬁqm)
(A) ==t Y ® @
K FEmEE (D) R -
(E)  3rafa 9sl) %
€ =
107 What will come itf place of *?" Ly
“P T T E AL 3 SI? i
60,45,32,21,7
(A) 14 o B 11 (B!
© 16 D) 12 o
(E)  Question ﬁ__ut; attempted / TR 5 l" \
i
108 What will come ln,]?lacc of ‘7 {1
“7* I T T W 3
i 1y
O |- O .
O | @O
g !1
-QJI)— —®— ? 0
= v
A o
(A) (5 | (B) Q— (95
1Y) (9]
© O D) (5 e
(E)  Question not attempted / 3TFafa 74
AlS] 5§ 22

The state bird of Rajasthan is
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109 Some symbols are represented by letters as shown below:

T Wl i averd g gwtar A @ S o A R g
+ | — | % +f= > =
B|G|E|[C|D|A|F

Which of the following expression is maost appropriate?

foer 4 i a1 warlfares I9g S 87
(A]: 15C SF8GC 4B 6C 3 ‘LB) 15A SE BC 4B 6E 3
(C) I1SCISBEF4B6C2 (D) 15B 5G 8B 4G 6F 3

(E)  Question not attempted / AT 92

110 Which of the following provisions of the Indian Constitution deals with the appointment and dismissal of the Council

of Ministers?
(A)  Article 74 (B) Article 75
(C)  Article 70 (D) Article 72

(E)  Question not attempted

Pt 3 & vl e e ar s Afufoes i Frafer st vesga @ weiy waar 2

(A) =g 74 (B) HT=475
AB)  F=E 70 (D) 3E== 72
(E) rafaws
111 The Planning Commission of India was formed on
(A) 1% January 2015 (B) 2™ QOctober 1950
(C) 26n January 1950 () 15% March 1950

(E)  Question not attempted

T = T ST 1 72 T g 1]

(A) 15 2015 ' (B) 2373 1950
(€ 2657 1950 M) 15a 1950
(E) sAqmitmus

2 “Rane Jagpat Ra Marasya® was written to mourn the death of which ruler?
(A)  Maharaja Jeevan Singh (B)  Maharaja Jaideep Singh
(C)  Maharaja Janak Singh

(E)  Question not attempted
T ST 31w foRE s o e @ gt A for feredt mi efr?
(B)  wEnrEn s fig

(D)  Maharaja Jagat Singh

(A) werrE sfa fie
(C) wewmT s fie AD) ORI R feig
(E) srgaf@wd
A ,
5] gy & [P.T.0,
L_ T T Y _J
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113 Which statements regarding Kuchamani Khayal are correct?

a. Kuchamani Khayal was started by the famous folk dramatist Lachhi Ram.
b C Q]Nﬂgiri, Rao Ridamal and Meera Mangal are the main khayals created by Lachhi Ram.
c. Kuchamani Khayal is not performed in an open theatre. o
d In tl{ls‘f(hnynl , players of Dhol, Sarangi, Clarinet and Dholak ard the main accompanists.
Choose the most apprepriate answer from the options given below: vl
(A) a,b, and c only (B) a,bandd onfy”
(C) b,canddonly (D) a, c‘and d -:Jl:IIE:]I
(E)  Question not/attempted '
gt e & A A & - e e 8 A

FETHUt ETe Wit T TEawn Srest T g Y T T A

=tz iy, T frasret v i siver, et o v i e e

RO et e e g (forvg) i e e e s 8]
4. s S, al, wed st e Ao ger e A 4 |

e fr e fereedt 34 warfferes guge sot 9

o TE

gA)  FEa, b o ® Feea, b,
(C) Famb,caifitd ®) e, oM,
() wEf@ws t?! <l
114 Which part from *ashvagandha’ plant is used to make medicines? ™
(A) Leaves () (B) Roots ;«;
(C) Flowers J (D) Shoots ~d
(E) Question nd't*ia'tmnpted ‘_ ‘_!
mﬂﬁi}:ﬁmﬁmwwmmﬁgmﬁmwﬁ )
(A) dfE §;' B) wEm &
(©) FE 0 ;; D whE
':E') 313“‘&“ T"I 1---%
115 Natural rubber is a polymer of:
(A) Ethene '] (B) Butadiene
(C) Ethylene t“;"] (D) Isoprene o
(E)  Question not attempted -
o T Feer o, ifere 22 oe
(A) T4 =y AB) qEEmm (O
© sfEfm p (D) gt L
(B)  SAf@ 94 gl v~
{i
116  Bifocal lens is used 18 correct the defect of: (Choose thc maost appropriate uptm}n from below)
(A) Cataract r“ﬁ} (B) H ypennelwpla J
(C)  Myopia : : (D) TPresbyopia .|
(E) Question nn} }tempted n
ATCEFA T foriferfiaa 3 @ formef #ft 1 g0 a7 & forg ﬁﬁmwﬁﬂtﬁﬂﬁﬂﬂaﬁmﬁmﬁ
@) AR (@) ey L)
© Przgdmn| (D) w-gggfa 2 (g &)
(B) orgufagg
Al5] By 24 [ PT.O:
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117 Complete the sentence by choosing the most suitable article from the options given below:
Please get me ___ umbrella when I go out shopping as the monsoons are approaching. )

(A) No Article ij] AB) an o
(C) the “J (D) a o
(E) Question not uﬂemplc‘dﬁ -
-
a0 0
118 Complete the sentence by chnnsmg the most appropriate preposition from the options(given below:
I reached the school e the gates closed. Ty
(A) by 4 (B) from i
(C) later (P)  before
(E) Question not attempteﬁ_} ™M
o Q
119  Match List-1 with List-II; o\ ()
List-I (Wo rds} List-IT (Synonyms) 11
.._1
a. generous o L. esteem 0
b. honour O 1I. ridiculous o
c. absurd i h III.  achieve Y
d. accomplish ot IV.  charitable =
Choose the most appropriate answer from the options given below:
(A) a-TIV,b-Le-IL,d- I B a-ILb-ML,c-1v,d )
11
(€) a-Lb-ILc-TId-IV, (D) a-NLb-IV,c-Ld-f
(E)  Question not attempted § f‘i
.
i .
120 Fre it @ s w1 wad suge e e fé;
(A) g £ 7(B) g™ in
(C) 3| i) (D) T i :
(E) wrafaws v
121 femamad g, g, @, g@n, 9 s gw 2, T8 frm fas w5 wim dar de E;:
(A) o fm (o ®) 3w Py
(&) srmEtamm o™ (D) eiferm ol
(E) @A p s
() o
12 faGFwRymE: (- L)
wAT - 1 T S e vl B d
T - 11§ @ IEAn T 2
I FAl & ATl A frferfiaa fasedt # @ waffims 3ugw ot 2
_p\) FAITE L, anmﬁl (B) wuT]IEAR, qum%l
(©) Eﬁﬂ'—llaﬂtllﬁﬁ‘ﬂ?ﬂfi'; (D) W“"ﬂwﬁmi’
Al 94 i
& ™ fhs)
123 1fCAT = 48, then MOUSE ﬁ:%;uﬂl to: L
A CAT = 48 8, ?ﬁMOUSE‘mmm%f 1y
@ 138 i
(A) 148 ﬁ e
©) 142 ) AP)
(E)  Question not attempted / srgefa 54
P.T.O
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124  Ranjan travelled 15 km northward, then tumned right and travelled 10 km, then turned left and travelled 20 km, then

125

126

127

turned left and travelled 10 km. How far was Ranjan from the starting point?
(A) 35km (B) 45km

(C) 30km (D)  25km

(E)  Question not attempted

& ICHY S 1S Freft e, 3035 e e v g 10 Foreft <rem, Fwk ame At siw g 20 Frdt e, aevem, aw
mwloﬁ:ﬂwammaﬂmﬁﬁﬁgﬁﬁ;ﬁgww

AA) 35 ot (B) 45 et
(C) 30 it (D) 25 feeeft
(E) mfmwy
Which of the following is an institutional factor of agriculture which influences the pattern and productivity of
agriculture?
(A)  Chemical Fertilisers (B)  Crop Insurance
(C)  Size of the holding of fields (D)  Topography

(E)  Question not attempted

Frefeta & & i - e s, i 6 seremar i wTEs ) s T 2

L) (B) et s
(C) i Ffy & = s (D) Tl
(E) e wx
‘Narma’ is associated with which crop in Rajasthan? y
(A) Tea " (B) Coffee
(C) Jute (D) Cotton
(E)  Question not attempted
T TS it o wae & wataa
(A) =g (B) il
© =® 'AD)  FAE
(E) STafaus

Which of the following statements is not correct about the Darjeeling and Sikkim Himalayas?
(A)  They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the East.
(B)  The higher reaches of this region are inhabited by Monpa.
(C) Itisaregion of high mountains peaks,
(D)  This region has well distributed rainfall throughout the years.
(E)  Question not attempted
afsifer si fafarm femre & a8 e A A S w s el vt 20
(A) A iEm & fure femrer sitc qd # e e @ R d)
4B) T & F T4 AT W AT o FEm #)
(C)  =w Iwa waa firadi =1 & )
(D) %8 &0 ¥ o = aul syt wapm & foafi 21

(E) &iwfd vy
128 Duduma waterfall is located in which of the following state?
(A)  Jharkahand (B)  Odisha
(C)  West Bengal (D) Andhra Pradesh
(E)  Question not atlempted
ﬁnﬂﬁ%«mﬁg&;mﬁrﬁmi‘m%r
(A) wm@EzE AB)  anfEm
(€©)  aftmy simmer (D) aiwwEm
(E) orafmuy
Al5] 26 [ .T.0:
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Read the passage and answer questions 129 to 132 -

m . “Stress” i}
All people have some sfress in their lives. A little stress makes life interesting,

and keeps you on your toes.
However, too much stress can ‘bcdunhcalthy. You ma

y find your life becoming stressful Whenever there are changes
in your environment, in your rc:.lnliunshim. or in the demands you put on yourself, |

Stress can also be Cﬂuﬁté_l.!ji_‘f good things in your life, such as getting a new job/moving to a new place, or
getting married, ' 1

How can vou tell whery your life is getting too “stressful™? You will probably fidd yourself always fecling
rushed, as though you must hurpr.Fvcryv.uhcrc you go. There is never enough time to do evéryting that you need to do.
You may find yourself walking, talking, and eating more quickly than usual.

Besides causing crnotim_prrnblcms. stress can also cause real physical problems. 'H]fbcu have toa much stress
in your life, you may suffer fi rafm’stomach problems, headaches or neck and shoulder paih,

Prevention is the best Way to deal with stress. First of all, be organized- there is'hothing so stressful as a
disorganized life. Put your lifgand your surroundings (your home, apartment or desk df:\L'ork or school) in order,
Don’t procrastinate. Stop puttifigithings off. Do what needs to be done today. On the othet hand, don’t always feel
that you have to do everyting tight now. Learn to say “no” to activities and ccrmmilmei:ngi that will only add more
stress 1o your life. Remember that you are only human, and that you can only do one thidlé At a time.

Learn to relax. Slow down! Take a break or a walk when you feel yourself gctting'ﬁilessed. Find a hobby that
you enjoy. Reading, listening to music or creating something with your hands are all great ways to bring some peace
to a hectic life. Learn to laugh avyourself arfd your life. Try to look on the bright side of Ii_ﬂi‘f:t~ Even when things seem
pretty dark and stressful, there i§ usually a place for some humor and a smile, "_--;

£

g
129  What may cause stress? {Chnog'e‘ihe mast appropriate option from below) .

(A) When you do Yoga. &)
AB)  When you go on vacatigtzﬁith friends. r.'_::_,
(C)  When you make chang{ﬁiip the demands you put on yourself, g
(D)  When you relax and mc{iir..ate, s |

(E) Question not attempted

Ed it]

i 2 ? the most appropriate option from below) !
130 How to tell if you are too sln.sggg out ? (Choose pprop! p )

S|
]

{A)  You have time to volungcqsr for many social work. - i
_—~B)  You are relaxed and take-ljfe easy. J,
(C)  You feel full of energy and josh. |
(D) You run short of time ta’'do all you need to do. =
(E)  Question not aticmpicd!i"; o

]

131  What is one of the appropriate way (0 manige stress? (Choose the most appropriate nplinn”lt'rum below)
at 15

(A) Take on many assignments together. | ]
_B) Do everything by yoursélfand avoid delegation of work. e
(C)  Plan and organise your Work. i

(D)  Rushall the activitics youdo. a
(E)  Question not attempled (:'t': ; u
[ ].

I
¢ i Froes” [ + optivns below:
thedning of the idiom “to be on your toes from the options
132 Choose the maost appropriate idginmbl . () beolerdnd seady focanything
(A) Take abreak

A1) Look on the bright side
(C)  Putting things off
(E)  Question not attempted

[PT.0.
A1) g <
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133  Who was known as * Frontier Gandhi®?

AA) T e TRRR @H (B) WIEwE TE
(C)  werem et (D) WERTEE
(E) rgafta ws
134 Which of the following are not the Artificial Intelligence (Al) related projects initiated by the Rajasthan Government?
(A) UID (B)  Audio Analytics
(C) RajBOT (D) Revenue Intelligence & Analytics
(E)  Question not attempted
frfafaa 3 & == ot e aEn T I7E i 8 anfEfEfime R @ and) & weEfum sieieEm 74 2
£A) g s (B) irea wtfefea
(C) TwmElE (D) T @fear 3 fedmo
(E) rquiE@ws
135  Who amongst the following Indians has been recently selected for the ‘Goldman Environmental Prize 20247
(A)  Tulsi Gowda (B) Rajendra Singh
(C) Ramesh Agrawal (D)  Alok Shukla
(E)  Question not attempted
et €1 | Forer 5 ¥ o el o = Aot wafer T 2024° 3 g9 €2
() ge e ®) = fiE
(C) T AT (D) ATl I
(E) Hui@ws
136 If‘m’ is proportional to ‘n’ and m = 5 when n =4, then what is the value of m when n = 207
afz ‘m’ & ‘n’ WETLAINTH €1 UR m=5 STalfeh n=4 &), S n=20 B 7 m =1 7T T EM
(A) 25 (B) 20
(Cy 28 (D) 225
(E)  Question not attempted / START 94
137 The length of a cold storage is double its breadth. Its height is 3m. The area of its four walls (including the doors) 18
108 m2, Find its volume.
o it s oy wvand sy sherd @ el #1 s S 3w #) sweh) A (@it Y yrifirer ) & S
108 m? 1 gaeRT s1raas W #ifi)
(A)  125m? (B) 256 m?
ey 216 m? (D) 225 m?
(E)  Question not attempted / 31wf 92
AIS] £ 28 [ P.T.0:

(A)  Khan Abdul Gaffar Khan (B) Mohd. Rasooq
(C) Mahatma Gandhi () Sardar Patel
(E)  Question not attempted

seftaier T 3 S R ST T A
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138 Frafarfias fe wdi | orafae @2

a.  HOR b, T
C. b d. ferdeom
€. G
et R e fored 6 4 warifres gugws gw -
A FEEd e (B) Fad et a
(C) FEdasith (D) FaEdc3id
(E) Tqaf@ws

139 Diesel engine converts energy from - (Choose the most appropriate option from below)

(A)  Electric energy to sound energy (B)  Nuclear energy to electric energy
(C)  Chemical energy to mechanical energy (D)  Chemical energy to electric energy
(E)  Question not attempted
EESEEL] il e 1 (e i & e s R )
@ Teifeze Sl & T i (B) ~ffer = & weifies ot
(C) Ffiher ool & w¥frwa ot (D) e oot @ waifigs it
(E) Irgafaws
140 Choose the most appropriate word from the given alternatives which bears the same relationship with the third word,
as the first two bear.
Mountain: Hill: :Tree: ?
(A) Forest {B) Rain
(C) Leaf ~. (D) Shrub
(E)  Question not attempted
#3—-.-}ﬁ:r;m{ﬁmﬁiﬁ%mﬂﬁ%m%wmm%ﬁmﬁ%ﬁqwﬁwﬁ%mﬁmmgﬁm
LCGH TRIE: : UT:?
) S (B®) =i
(C) wst (D) wfeat
(E) ufa s
141 The first Vice Chairman of NITIAYOG was
(A) Nandan Nilekani (B)  Arvind Panagariya
(C) Narendra Modi (DY  Arun Jaitley
(E) . Question not attempted
i s & waw ITerE 9 A
(A) e Frcmir 4B)  anfeE i
(€ sz (D) 3o sieedt
(E)  rgwita g

92 1 which of the following budget year, the Railway Budget was merged with the Union Budget?

Frferfiae # & frg arsre ad @ e & @ 09 & asre § anfier e mn
(A) 2017-18 (I 2018-19
(C) 2015-16 (D) 2016-17
(E)  Question not attempted / miﬂﬂ?l'ﬂ&l
5] g 29 [PT.O.
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143

4

145

i46

The rate at which Reserve Bank of India lends money to commercial banks is -::alle-d
(A) SLR i‘:. (B)  Repo Rate Q
(C) CRR f;"-! (D)  Reverse Repo Ratel
(E) Question not quqlnptcd f“j
Forer 70 & et el s e et vr v e &, 38 LT
(A) wE am O 4B) i N
© woamam W17 © fadte
® omhaws

M o
Chandoli was declared as National Park in 2004. It is located in which Indian slaf;%
(A) Maharashtra ("] " (B) Haryana M
(C)  West Bengal 1 (D) Meghalaya E:j
(E)  Question not a‘&j;mpled C‘;;
2004 % <=ch 1 e s s v e e e AR AT A UG
(A) mewrsg el 4B) wfEmm v
(C) i ame (D) ¥ETEE
() gui@ws (V) g

@ &

Which state assembl:ﬁ ‘%sscd a bill to provide reservation in state government jobs [ur SC, ST, OBC and EWS from

60% to 77%? ik 0
0 .

(A) WestBengal /) (B) Andhra Pradesh &

(C) Kerala Ty (D)  Jharkhand 1

: 4 i
(E)  Question not dttempted

T T T Feramerenar 3 U e T st o o o, v, s o s, m-m STTCEY T 60% & T2 77%
m%&wﬁa’m'ﬂﬂ'{fjmv

(&

(A) it e\ (B) AW 0
(€ = i (D) wREE i,
(E) HEiEss () "i:}
.ﬂJ -

Ly
er gnumerated in the state list in the
national interest, if the resolution is passed by the Rajya Sabha with a 2/3 majority of members present in the house

Which of the t‘allowlkg articles empowers the parliament to legislate on any matt

and voting? (Choose {"b'f most appropriate option from below) Ll
(A) Aricle312 (B) Aricle3s0 L
(C) Anicle54 () " (D) Anicle249  * ;

(E)  Question not attémpted

Fresferfiaa & & m«*ﬂ@rmﬁmﬁaﬁmrﬁnﬁmmmmqwmwmmauﬁ
mmwmmﬁ‘s@mmﬁﬂ SAVCHAETT & 2/3 stgrer 3 v e R s &) (ot 3 3 et 3o e

@ u"i r i
(A) ==z 312 AB) =i 360
(C) == 54 (D)  srgeda 249
(E) srafawy
AIS| 455 30 [ P.T.0-
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147  Which of the following statements is not correet about the Gondwana Coal?
(A) It is mainly peat and lignite type ol coal,
(B) Raniganj, Jharia, Tata Pani and Himgiri are some of the important ¢oal mines of Gondwana formation.
(C)  The Gondwana coal belong to the carboniferous period,
(D)  Itis found in Damodar, Mahanadi, Godavari and Narmada valley.

(E)  Question not attempted

TitgaT et & it fie F & 9w e a2
(A) e e iz 3 fermee v Sraen ) , '
A4B) m.m.mmw.mm%zﬁmm@ﬁa T
(C)  TITEaTT el et F1el @ dafm 2 ki
(D) 38 TWIEE, WEWE, femadt aft e v # gran s )

(E) Fafaws

148 Kattha is extracted from the inner wood of which tree?

(A)  Khair tree (B) Mulberry tree
(C)  Kul tree o A (D) Kusum tree
(E)  Question not attempted

FeATFAE g A mﬁwaﬂ‘rf@mﬁmm%’*
FEVINR: 3 R o (B) weqadg
© Foga (D) Fguls
(E) safawa _ L gt

149 Which of the following rivers is the largest tributary of Indus river?

(A)  The Chenab (B)  The Jhelum

(C)  The Satluyj (D)  The Beas

(E)  Question not attempted

feteg 1 o wrdt e e (et FA-A 7 ' Ve
(A) wFEE : (B) Sem ?
4€)  HagA 7 (D) =™

(E) wafawd .- -

150 Where is the famous Sikh Shrine *Hemkund Sahib’ located? .
(A)  Sikkim Himalayas (B)  Zanskar Himalayas

(C)  Garhwal Himalayas (D) " Kumaon Him alayas ° ' v
(E)  Question not attempted
ftrg fora eam B mfear @l feua B2
(A) Tafees femmem (B)  stient fenrery
() oA feaem™ (D) g fewmery
(B)  wrwita ua . £ if
| Al5] @ 31 [ PT.O.
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